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Knotensatz:  1 7 2 6 0       

 
    2 6 1 7 0,192 A       

 
    2 3 2 6 2 30,5 0,096 A U U 0,96 V           

 
    4 5 6 2 6 4 5 60,33 0,064 A U U U             

 
 



aR 14,545     1 0,352 A      1U 3,52 V  

iR 2,5      2 0,096 A     2U 0,96 V  

qU 6 V     3 0,096 A     3U 0,96 V  

ABU 5,12 V    4 0,064 A     4U 0,64 V  

0,352 A      5 0,064 A     5U 0,64 V  

      6 0,064 A     6U 0,64 V  

      7 0,16 A      7U 1,6 V  
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Figure 2a) series connection 
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Figure 2b)   parallel connection 
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Figure 3a) 

spannungsrichtige Messung:     (Parallelschaltung) 
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Figure 3b) 

stromrichtige Messung:      (Reihenschaltung) 
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a) series connection 
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a) Figure 5a) 
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b) Figure 5b) 
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